Nobody Wanted to Play.

Draw Wilf on his bike.


Put in the correct word.

1. Wilf was _________.

2. __________ wanted to play.

3. He went on the ___________.

4. Wilf played on the rocket. 

“I am a __________,” he said.

5. He played on the see-saw.

“I am a __________,” he said.

6. He played on the horse.

“I am a _________,” he said.

Nobody Wanted to Play.

Wilf was cross. Nobody wanted to play. He 

went to the park. Wilf played on the rocket. “I 

am a spaceman,” he said. He played on his 

bicycle. “I am a stuntman,” he said. He climbed 

up the ladder. “I am a fireman,” he said. He 

climbed on the wall. “I am a spiderman,” he 

said. Whoops!

Write all of the words that begin with:

p

s

c

park





cross





Nobody





juggler





spaceman





cowboy































































































